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Source code Simulasi 

set ns [new Simulator] 

set f0 [open video.tr w] 

set f1 [open audio.tr w] 

set f2 [open image.tr w] 

exec rm -rf /tmp/rio 

exec mkdir /tmp/rio 

 

set nf_nam [ open /tmp/rio/tcpip.nam w] 

$ns namtrace-all $nf_nam 

set nf [ open /tmp/rio/tcpip.tr w] 

$ns trace-all $nf 

proc finish {} { 

               global ns nf f0 f1 f2 

               $ns flush-trace 

               close $nf 

               close $f0 

          close $f1 

               close $f2   

             #exec nam tcpip.nam &                         

                    exec xgraph video.tr -geometry 

800X600 -x time(s) -y throughput(Mb/s) & 
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                    exec xgraph audio.tr -geometry 

800X600 -x time(s) -y throughput(Mb/s) & 

                    exec xgraph image.tr -geometry 

800X600 -x time(s) -y throughput(Mb/s) & 

      exec xgraph -m video.tr audio.tr 

image.tr -geometry 800X600 -x time(s) -y 

throughput(Mb/s) & 

               exit 0 

               } 

set Node0 [$ns node] 

set Node1 [$ns node] 

set LSR2 [$ns node] 

set LSR3 [$ns node] 

set LSR4 [$ns node] 

set LSR5 [$ns node] 

set LSR6 [$ns node] 

set LSR7 [$ns node] 

set LSR8 [$ns node] 

set Node9 [$ns node] 

set Node10 [$ns node] 

set LSR11 [$ns node] 

set LSR12 [$ns node] 
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set Node13 [$ns node] 

set Node14 [$ns node] 

 

$ns rtproto LS 

$ns duplex-link $Node0 $LSR2 1.5Mb 10ms DropTail 

$ns duplex-link $Node1 $LSR3 1.5Mb 10ms DropTail 

$ns duplex-link $Node10 $LSR6 1.5Mb 10ms DropTail 

$ns duplex-link $LSR2 $LSR6 2Mb 10ms DropTail 

$ns duplex-link $LSR6 $LSR4 2Mb 10ms DropTail 

$ns duplex-link $LSR6 $LSR7 1.5Mb 10ms DropTail 

$ns duplex-link $LSR6 $LSR12 1.5Mb 10ms DropTail 

$ns duplex-link $LSR12 $LSR11 1.5Mb 10ms DropTail 

$ns duplex-link $LSR12 $LSR8 1.5Mb 10ms DropTail 

$ns duplex-link $LSR12 $LSR7 2Mb 10ms DropTail 

$ns duplex-link $LSR12 $Node14 1.5Mb 10ms DropTail 

$ns duplex-link $LSR11 $LSR8 1.5Mb 10ms DropTail 

$ns duplex-link $LSR11 $Node9 1.5Mb 10ms DropTail 

$ns duplex-link $LSR8 $LSR7 1.5Mb 10ms DropTail 

$ns duplex-link $LSR8 $Node13 1.5Mb 10ms DropTail 

$ns duplex-link $LSR8 $LSR5 2Mb 10ms DropTail 

$ns duplex-link $LSR5 $LSR4 1.5Mb 10ms DropTail 

$ns duplex-link $LSR5 $LSR3 1.5Mb 10ms DropTail 
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$ns duplex-link $LSR3 $LSR2 1.5Mb 10ms DropTail 

$ns duplex-link $LSR3 $LSR4 1.5Mb 10ms DropTail 

$ns duplex-link $LSR2 $LSR4 1.5Mb 10ms DropTail 

$ns duplex-link $LSR4 $LSR7 1.5Mb 10ms DropTail 

$ns duplex-link-op $Node0 $LSR2 orient right 

$ns duplex-link-op $LSR2 $LSR6 orient right 

$ns duplex-link-op $LSR1 $LSR3 orient right 

$ns duplex-link-op $LSR6 $LSR12 orient right-down 

$ns duplex-link-op $LSR6 $LSR7 orient down 

$ns duplex-link-op $LSR6 $LSR4 orient left-down 

$ns duplex-link-op $LSR12 $Node14 orient right 

$ns duplex-link-op $LSR12 $LSR11 orient down 

$ns duplex-link-op $LSR12 $LSR8 orient left-down 

$ns duplex-link-op $LSR8 $Node13 orient down 

$ns duplex-link-op $Node10 $LSR6 orient down 

$ns duplex-link-op $LSR2 $LSR4 orient right-down 

$ns duplex-link-op $LSR7 $LSR12 orient right 

$ns duplex-link-op $LSR7 $LSR4 orient left 

$ns duplex-link-op $LSR7 $LSR8 orient down 

$ns duplex-link-op $LSR11 $LSR8 orient left 

$ns duplex-link-op $LSR11 $Node9 orient right-down 

$ns duplex-link-op $LSR4 $LSR3 orient left-down 
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$ns duplex-link-op $LSR4 $LSR5 orient down 

$ns duplex-link-op $LSR5 $LSR3 orient left 

$ns duplex-link-op $LSR5 $LSR8 orient right 

$ns duplex-link-op $LSR2 $LSR3 orient down 

 

$ns use-scheduler List 

proc attach-expoo-traffic {Node sink size burst 

idle rate} { 

global ns 

set udp [new Agent/UDP] 

$ns attach-agent $Node $udp 

set traffic [new Application/Traffic/CBR] 

$traffic set packetSize_ $size 

$traffic set burst_time_ $burst 

$traffic set idle_time_ $idle 

$traffic set rate_ $rate 

$traffic attach-agent $udp 

$ns connect $udp $sink 

return $traffic  

} 

set sink0 [new Agent/LossMonitor] 

$ns attach-agent $Node9 $sink0 
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set sink1 [new Agent/LossMonitor] 

$ns attach-agent $Node13 $sink1  

set sink2 [new Agent/LossMonitor] 

   $ns attach-agent $Node14 $sink2 
 

set src0 [attach-expoo-traffic $Node0 $sink0 200 0 

0 1.28Mb] 

set src1 [attach-expoo-traffic $Node10 $sink1 200 

0 0 1.28Mb] 

set src2 [attach-expoo-traffic $Node1 $sink2 200 0 

0 1.28Mb] 

set tcp [new Agent/TCP] 

$ns attach-agent $Node1 $tcp  

set ftp [new Application/FTP] 

$tcp set packetSize_ 1024 

set sink [new Agent/TCPSink] 

$ns attach-agent $Node14 $sink 

$ns connect $tcp $sink 

$ftp attach-agent $tcp 
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proc monitor {} { 

 global tcp 

 $tcp instvar ndatapack_ 

 puts "paket dikirim : $ndatapack_" 

 $tcp instvar nackpack_ 

 puts "paket diterima : $nackpack_" 

} 

proc record {} { 

 global sink0 sink1 sink2 f0 f1 f2 totalpkt 

totalpkt1 totalpkt2 rcnt tcp 

 set ns [Simulator instance] 

set time 0.05 

set bw0 [$sink0 set bytes_] 

 set bw1 [$sink1 set bytes_] 

 set bw2 [$sink2 set bytes_] 

 set now [$ns now] 

puts $f0 "$now [expr $bw0/$time*8/1000000]" 

 puts $f1 "$now [expr $bw1/$time*8/1000000]" 

 puts $f2 "$now [expr $bw2/$time*8/1000000]" 

 $sink0 set bytes_ 0 

 $sink1 set bytes_ 0 

 $sink2 set bytes_ 0 
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 $ns at [expr $now+$time] "record" 

 set bw0 [expr $bw0/200 ] 

 set bw1 [expr $bw1/200 ] 

 set bw2 [expr $bw2/200 ] 

 set totalpkt [$sink0 set npkts_]  

 set totalpkt1 [$sink1 set npkts_] 

 set totalpkt2 [$sink2 set npkts_] 

 incr rcnt 1 

 }   

proc recv-pkts {} { 

 global totalpkt totalpkt1 totalpkt2 rcnt 

 flush stdout 

 puts "Total paket yang diterima dari Node0 

adalah $totalpkt" 

 puts "Total paket yang diterima dari Node10 

adalah $totalpkt1" 

 puts "Total paket yang diterima dari Node1 

adalah $totalpkt2" 

 puts "Recording count adalah $rcnt" 

 } 
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 $ns at 0.0 "record" 

 $ns at 0.0 "$src0 start" 

 $ns at 0.0 "$src2 start" 

 $ns at 0.1 "$src1 start" 

 $ns at 1.5 "$src1 stop" 

 $ns at 2.0 "$src2 stop" 

 $ns at 2.5 "$src0 stop" 

 $ns at 2.9 "recv-pkts" 

 $ns at 3.0 "finish" 

$ns run 

 




